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Gy : 2Y2 et | [ Qurgs wHUCuaTSEET : 75
Time Allowed : 22 Hours ] [Maximum Marks : 75
Ileyemr @ (1) Swarsg elamsseEnn sflwrs sFs udeurd) o 6rersm eraTLSener

sflurisgs Camerereyd. FsliLSHaledr Gapul@mller amns
sagrentuuTerfl_b o L amnquirs Ggfleléseab.
2 fob deg smluy ewul@ear LLHGCL W euSDHELD
Sl &5CaHMg(HeusH@D Lwethdss Couam(hd. LILBISET euaTeUsDHE
Quenfled LGS LD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

@Iy : Qeuslamgsrer eesmi 19f e samerd Qsrarm g

Note : This question paper contains three sections.

lfley - I/ SECTION - I
(wduCuenraer : 15) / (Marks : 15)
@olly : () @Uulfledle 2 crer 15 ellenEaEmhs@L 6blanL wefl&Ese, . 15x1=15
() oeoLlys gHllayda dsrhsslulBerer wrHm eblenLgafled
Bse|b eflwnen clleLews CasrbosHSE 6T (s .

Note : (i) Answer all the 15 questions.

(i) Choose the correct answer from the alternatives given in the brackets.
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1.  Qensedlen grips Biilfe) Crmulerme Lrdésiiui Herer waflsefler samenruisda
Qea6r famselamL bl ([HéE L.
(peoum, SCLm, smomr, QL)

In persons suffering from insulin - dependent diabetes, the cells of pancreas
are degenerated.

(Alpha, Beta, Gamma, Delta)

2. UYnbs GLEMSES PpHeT (PSld CarhisEsiumin Crmis 56 LS
(aumieul GumrellGuir, DPT, DPT womib eumieul GuredllGuir, BCG)
The first vaccine injected into a just born baby is
(Oral polio, DPT, DPT and Oral polio, BCG)

3. GpruseL s sriy baErLesgH L6l Gsriryeuwl Bpreridloars &yl
(awgrmi(®, engoav, i flerd, erflwed)
The endocrine gland related to the immune system is

(Thyroid, Thymus, Adrenal, Pineal)

4. pfe sapoauss dasmu WPsgIb Qurepsg auflurs B
&51&lmg).
(@emaggiener, Geemryblge, emwsCrmeanLie, (penerCaurr)

If a water soaked seed is pressed, a small drop of water comes out through the

(Stomata, Lenticel, Micropyle, Radicle)

5.  WLyéd eumeey] @eLuller srertliLhSng.
(g < faHer LOMD g GQeaiarlfsdler, @Lg < fafer wHmD
QLg Ceuarlfsdler, auewg Qeariflafer womb moruired swel,
@L g Geueanr_flgdler whmid GlLmHSLO6N)
Mitral valve is found between

(Right auricle and right ventricle, Left auricle and left ventricle, Right ventricle and
pulmonary artery, Left ventricle and aorta)
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wréearr_Grrureile, 2 awreylt QUTaTsamer 2 HlEpFaugsnaTer SlmliLiTear
Ceurrgaer

(anmevCLrilumiger, enwsGarenrare Courser, unpm Ceaurser, Ceumdl
Gourraer)

In monotropa the special type of root which absorbs nourishment is the

(Haustoria, Mycorrhizal root, Clinging root, Adventitious root)

Uigbs WOHMILD WOS&EGLD ClLmmeTsHamerT wpepuieme BEsmib.
(s Hlevawd &5HaMlLy, @ramird Hlews &sHafliy, epermrnd Hlepes
&Safiy, Copurliyg ssdefliy)

The sedimented and floating materials are removed by this treatment process.

(Primary treatment, Secondary treatment, Tertiary treatment, Peripheral treatment)

DYFLO WPEHE GefllLeuTsEer Faursdlssl Lwer(HSFHID alm&Hse el
(abedlwid - < Gadlegen, psallmen - eBLFMET, AL FoM6 - enBLFae)
The mixture of gases used by deep-sea divers is

(helium - oxygen, oxygen - nitrogen, hydrogen - nitrogen)

S8 1gs lewsHe allaflsi 2 ererg). gulfler 2 arer ojblewd
(rsig s ojblebd, LriLmilé sjdleow, fLflé osleb)
Vinegar is present in acetic acid. Curd contains acid.

(Lactic acid, Tartaric acid, Citric acid)

SMESE HHE CFTLMBISERHEGLD <flq I UITET &6l LD

Qgr@dHuldler o crerg).

(14-aug) Qgr@duder, 15-aug) CQsrEHule, 16-eug CsmEdHule)

An element which is an essential constituent of all organic compounds belongs to the
__________ group.
(14t group, 15t group, 16t group)

[ Sl / Turn over
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@ruur urened Qs iplin®(gsl LweatLBSDng).
(eTgaTed, THSMUASE leid)
is used for coagulating rubber from latex.

(Ethanol, Ethanoic acid)

@ Aerall ererLg) QUENT 2_ETeT feTa d@Ll Lflmenrd o erer
Olas Al GummeTtsaner jerell(HID HHeANwT@ELD.

(0.1 cm, 0.01 cm, 0.1 mm, 0.01 mm)

Screw Gauge is an instrument used to measure the dimensions of very small objects
upto

(0.1 cm, 0.01 cm, 0.1 mm, 0.01 mm)

2 bg LUK iss5HDEGF Fwwrer QuUDINQL S6Te]
(@QLUQuurEs, pBH&sD, s, saTsSETHE ellang)
The physical quantity which is equal to the rate of change of momentum is

(displacement, acceleration, force, impulse)

FHCavmeurl wenfl ererLg) 6T VG G LD.
(Blearpsds GCeumur(®, Wendlmen, Wlemermmmed, LleTenr L ib)
Kilowatt-hour is the unit of

(potential difference, electric power, electric energy, charge)

o2 Carss sLsHulled Lmud WlearGarmlL b ergemend &l
2 (IHEUMEG)LD.

(smBsL Heod, erpdly ellens, grawr(® LblenGemmi L Lb)
An electric current through a metallic conductor produces around it.

(magnetic field, mechanical force, induced current)
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Sifley - II/SECTION - I

(bFUCuaTaeT : 40) / (Marks : 40)

@MY : etemeuCuienid @BLg SamssEnsE el wefléseab. 20x2=40
Note : Answer any twenty questions :
16. &L$SEFIq W LaTL&ET S FhMlersSHn@erenid, Cuilarssn@eresn rmu@ib.

17.

18.

E&ESTENILD LIGRTLEET eTSSendW rmiLmhser Qsramhereren ereand @GmULA(Hs.

(i) welss searentlen Himb Heod, s@HLIL, LU, LFmE erer LTINS DI
@eieuens wrmum eraru(pID.

i) pwe, wrener Gurarneumnled sraprliLi(Hbd Lied jepoliL| LMLl (HeETerg).
@eleuens WwrmUTHEET erelii(hiD.

The inheritable characters vary in different species and within the same species. Name
the variation in the following cases.

(i)  The eye colour among the human beings are varied as blue, black, brown, green
etc. This is called as variation.

(i) The dentition in the rabbit and the elephant are not the same. This is called as
variation.

oyl Qumlullwed eremmmed 6remasr ?

What is Genetic Engineering ?

EupdrateupmeT H@&HS Gevensameril CLIT(HSE)s.

(mbgiser, erfl@ummer, mearamuifl, aleriflens IHMD, &b OleBIGET)
(i) sOHUY DmmbBS i) Qubes euryy

(i) HLAE odevid (iv) eeul L LOerger

Match the following by identifying the pair :

(medicines, fuel, microbes, metabolism, organic acids)

(i) Vaccine, (i) Natural gas,

(i) Citric acid, (iv) Vitamins

[ Sl / Turn over
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wrrevwed WwHML GauredCurist Cprisedr Urss @GepmumiLme
gou@dlemer. wrrevwed Crmi, GeuradCuirrasr Grruiadlmbg o 9w euufm
O WP&5HD 63650 YA D@Hser epabd CoumuiBSleamer. @)&ambm
sflwr ? seuprs @@mUler HmsS er(pss.

Marasmus and Kwashiorkar are both protein deficiency defects. Marasmus differs

from Kwashiorkar in enlarged belly and swelling in the face. Are these symptoms for
the above diseases correct ? If not, correct it.

EG 2 drer LULSMS auarhg Qsrhssliul(hearer @ollyseafear o sedlwmed
LTGRIGEETS GNIES.
Copy the diagram and label the parts with the help of the clues given :

i) @& sr5E0 aprrGorerser <0G TeveGrmer LHMILD &g CemeT <, @Lb.
i) It is otherwise called supra renal gland.
ii) It secretes two hormones, namely aldosterone and cortisone.

QarhdEsliLL(HeTer UL Seng cuenyhgl S(LpeTer LTEhSmers @&mésa] .
(i) eréemene (i) @Ewmd Bludseuen

Draw the given diagram and label the following parts.

(i) Exine (i) Tube nucleus
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LITeneal &g @LPedled aump el L &b CummieTer sseuanoliLsaticd brerdlener
GINTAICE:S

Mention any four adaptations seen in the camel so that it can live successfully in deserts.

Qansled durmpsrsmss ComphsGss mwsis.

(i) ECerryeien, GGarmIpma6eD, «.enLlAfGarreen, e |dle.
(i) weeWTHsEr, CsmbLemLw QFbLHUTHSE, &Figser, &eb.
Pick out the odd one out.

(i) globulin, glomerulus, fibrinogen, albumin

(i) mountain goat, big horned sheep, grizzly bear, seal

1Gemel D L L euenamTenil HlrLiL|s.

asle) B&s 2 nitiy | QeuaflCupmib sifley sle|ls Clunmensen
wyflwm, wfls ojdleoi,

SmBrsb AmyB Aflwrigeflesr Cumem
WPESW eBL_Teen SLl6|seT
_ QeuefllGumm (b
Bl Tuired ‘ I _
ST
) Siflswrer B wHmLD
€1 S — T
2 LIL|&6T
Complete the table given below :
Excretory organ Disposed as Excretory products
) . Nitrogenous waste products -
Kidneys Urine . -
Urea, Uric acid, Creatinine etc.
Lungs Exhaled/Expired air |
skn | Excess water and salts

[ Sl / Turn over
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QaTH&sILLIgHSGLD LILSMsd SeUatss.

(i) UL A, B-ob srewtliL(HD QuGskISmers @GN HS.

(i) ereueurmy Qeelwssmser OgriLmed SHeapmdl GQeaesaien
@Qussnisatadlmbg CoumuBlemmen ?

Observe the diagram.

(i) Mention the type of movements shown in figure A and B.
(i) How does this movement differ from the movement of mimosa ?

FTESMTE SMTFD YOSADTONS LTHDOE LS.

(i) Cuwhsar_ Qswele assamsu Hlapssl peaLCumndng ?
(i) erps HGmamuifl FHUESDS ?

Sugar solution is converted into alcohol.

(i) In the above reaction what kind of process takes place ?
(i) Which micro - organism is involved ?

EpsararrueheapLl QUM(HHEs.
3 b
(a) wLCwraflwur GCe)s (i) euMETHESMFLI Li(Lp&H&HeT
(b) wWNCwreLedsé (i) Serser
€ wiCsrGLels (
d) QOpLifgursser (
Match the following :

i) LT Iq &6

iv) LUDeUGET

A B
(a)  Ammonotelic (i) annelids
(b) Ureotelic () fish
(¢)  Uricotelic (iii) mammal
(d) Nephridia (iv) birds
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GemaumeuameLpenpll LiLiem(hgd 2 anre|d smidledlenll o (HeuTH@s.
(umby, Y&, W@, seuamer, Geul (hadlafl)
Depict a food chain by placing the following organisms in the correct trophic levels.

(Snake, Grass, Eagle, Frog, Grasshopper)

Curs@aursg ersamaseie LwaLBSSLULHL Freu 2 ulfl erflQummeTaser
wrenet ?  (erenalGuiend Bre(s))

What are the various liquid biofuels for transportation ? (Any four)

wrdluerer, HwmbulCup @uerd, HEmbultup @QUeETS 66T n e 6T
WPeDWTE QUTHSSIS.

GUGITIBI &6 A B C
bulCumid
Ao ] _QJ &l STH ) CuL_Grredlwid
UGG
SlBouLElLD L . @lwgpar
. aamL_Feen | GuibHend e gy
QUIGTS GUETHIGET < MHML

Match the suitable renewable and non-renewable sources.

Sources A B C
Renewable Coal Wind Petroleum
Non - Renewable Hydrogen Natural gas Solar energy

L6 LBlebedl w6 4eT(h&(Ehd@ (pearm Lelludled LjengwjeaTi Sreurtl QummeTser
fangeuanl_HesTe Ligl erilummerser o (heurudar. eraneuCGuend @) renr(h
Uigo. erflClUmeTsamnersd gamis.

Fossil fuels are formed by decomposition of biomass buried under the earth over millions
of years ago. Name any two fossil fuels.

9@ rerailwen @QUIGSLD GTETMTE 6Temen ?

What is Brownian movement ?

[ Sl / Turn over
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20 & sepowed 2 Lienut 50 & Bifled sanrsHmHsTed Sissmrsan Gefledler Fseis
Hlenmenwids semrsd(hs.

Find the concentration of solution in terms of weight percent if 20 g of common salt is
dissolved in 50 g of water.

12.046 X 10?2 Sgmdser OararL  srllygHéd o erer  Cumasafler
TTaRllGanaan s SaTad ()s.
Calculate the number of moles in 12.046 x 10?2 atoms of copper.

A, B ererm @\ Sloomiser (paameuudle eneudsliLil(heterer. A-ilebrearg

Bfle u@dHwerCeu 9NenswnL g amed B-OeDIang Lp(LemDWITSL

flenswenL g

i) A B ufleomseaid eudlen @omnhs Al erg ? alela W@hs
Sled ergl ?

(i) el GoPHs BwsEDGD, edlon BEhHs <blagddEn @i
T (H55I& STL(H S(H5.

Two acids “A” and ‘B were kept in beakers. Acid ‘A" undergoes partial dissociation in

water, whereas acid ‘B” undergoes complete dissociation in water.

(i)  Of the two acids “A” and ‘B’. Which is weak acid and which is strong acid ?
(i) Give one example for weak acid and strong acid.

urpsrsmss CoMbEsG58! T (Bsls.

(i) seflo oblomser : HCl, HNO;, H,S0,, HCOOH

(i) &ML @ QrHs, Fmwwed Corim, eafst, i Gruwerurl 6
SILCwrelwm

Pick the odd one out :

(@) Inorganic acids : HCl, HNO3, H,SO,, HCOOH

(i) Basic Nature : Blood, Baking Soda, Vinegar, Household ammonia

SeupTen uTsSLISNSS S(HSS 6T (1pgIs.

(i) @rawreug Qariim @ndwu Qsriir <@h. @S @rarh seflomiger
L (HLD 2 6TeTe.

(i) 18 = Csr@dHs sailwmsdar CanGomrger @GHWULD 6TernenLdsL
L &erme.

Correct the mistakes, if any in the following statement.

(i)  Second period is a short period. It contains only two elements.

(i) Group 18 elements are called Halogen family.
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2 NIFUILGSEIS : STOTL LTSHrhisEr griemwluhssliuLelloamae erafle,
uFeng Hlml Ligeud Caremmidmg.

SMJ6sTLD @BsL UgogHDETer SsTrenrd s srolyds srmuGer

(=1) 2mHun@sgise LOMD srrewd &M, srrewmbd sflwrs CUTBESIFDS.

(<) 2 mAiu@sgise &fl. srrewrd sflwrs Cummbselleane.

Assertion : A greenish layer appears on copper vessels, if left uncleaned.

Reason : Itis due to the formation of a layer of basic copper carbonate.

(a) Assertion and reason are correct and relevant to each other.
(b) Assertion is true but reason is not relevant to the assertion.

sarmis Tl LUSLILOSSRSGL Liwem®n (A) eremm &ilng Camngdlen epedamm
aumaiur(® C,H,0,. @&Gamo erggeammaL e allenarflbg @ el wewrpenL
Cairo (B) -evwd SmEAMI.

(i) Gamwob A wHmD B -eows sam(H U &Es.

(i) @uwuweapuier QUWOGTS, ger Ceuds FweTUTL ML 6T(LHS)s.

An organic compound (A) is widely used as a preservative in pickle and has a molecular
formula C,H,O,. This compound reacts with ethanol to form a sweet smelling
compound (B).

(@) Identify the compounds A and B.

(i) Name the process and write the corresponding chemical equation.

Fapml (A): &THS @sHamse| Mbuwrs@Gn (MRI) wanuld e blsEs
ETHSLILISMS als 2 L 2 emepmlLsafle sar@meld Calg,
cuflggearCanrml_L 1D (scanning) @L LILHE DS

snrewid (R) : ausllenbwrer sTHFULOSSTO ASls0 LGdHmer O&merL
Gbukigeeris GlLmeTLD.

=1) (A)

<) (

8) ( , (R) Qram(Bd seupreng)

™) (A) sflwreng, (R), (A)-8 cuslluymsgiSng.

Assertion (A) : MRI is used to scan the inner organs of human body by penetrating
very intense magnetic field.

A) sauprang), (R) sflwmeng
A) sflwureng) (R) $eupnreng)

(
(
(
(

Reason (R) : By use of very intense magnetic field, very high resolution images can
be obtained.

( (A) is incorrect and (R) is correct.
(b) (A) is correct and (R) is incorrect.
(
(

o
— —

c¢) Both (A) and (R) are incorrect.
d) (A) is correct and (R) supports (A).

~

[ Sl / Turn over
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42,
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1 4 6 Blenpwjarer epqm Qurmer 20 18 2 wirsHéd @b 69pF Qewuiu@G g
syl aubsamLHagIn, ACH Caussdled Cbapdngl. o bg wrmUT L&
sreng. (g = 10 15/e9? erens)

An object of mass 1 kg is dropped from a height of 20 m. It hits the ground and

rebounds with the same speed. Find the change in momentum

(Take g = 10 m/s?)

QUT(BSSIS :
2 mILIL|&eT GG
(@) |Blem savid @
(b) |gmedl (<=1) seflla (apquwgy)| @) |+ =
(©) |s019 Genemriiy (i) | — MWW
(d) |Bler senL i) | —(o)—
Match the following :
COMPONENTS SYMBOLS
(@) |An electric cell )
(b) [Plug key (or) switch (closed) | (i) | 4=
() |A wirejoint i) | — AW

(d)

A resistor of resistance R

(iv)

4<.>7
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Camgl L @ migeer HlrliLs.
(i) Wererpss Coumur® : Ceurevl 5L T, erafled WlenCGarmi b :
(i) Brder Hleneowid : LILFTT YOO, erafled G <y HYE
Fill in the blanks :

(i) Potential difference : Voltmeter ; then Current :

(i) Hydro power plant : Conventional source of energy ; then Solar energy :

Qu(pRIsSLe Ceulil pHme GHSH 6T(HSIs.

Write about ocean thermal energy.

ereupid &$m euenruLid @GWwimguie Gibun Caremmeianss GH&EELD.
(=) <daerer enpenwis sarT_Mibg, Manpwhm ST euepTULLD eUanFWaLD.

(<) 2 mseT HHSsS5HDaTan alleTdsD e, L.

The ray diagram shown below is introduced to show how a concave mirror forms the
image of an object.

(@) Identify the mistake and draw the correct ray diagram.

(b)  Write the justifications for your corrections.
M
C\ F\> P

N

[ Sl / Turn over
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46. oLlemOBI cueGamdE aldlenwid Fam.

Define Fleming’s right hand rule.

47. e GeNbearfldlmhg 25 GF.5 Qgramaeiid 2 drer g CLTmer Cleversdd
Gererrmed 20 Q&S Qarenevaled GbLGms gTHLBSHSHDG crafld, Qeveander
Gl Qgrenave, eremer ?

If an object is placed 25 cm in front of the converging lens forms an image 20 cm
behind the lens, then what is the focal length of the lens ?

Slfley - III/SECTION - III
(ndHuiCuerser : 20) / (Marks : 20)

GOy : ()  eeubeurm uGHulambsib e etlamnm eigh HIesTE NTTES @SS
MenL_wefl&sa|b. 4x5=20

(i) eeueurm efemmalH@ELd Wb WSILCLITEET.
iii) Caeneuwirer @L migefled LL LD alenys.

(
Note : (i) Answer any four questions by choosing one question from each part.
(i) Each question carries five marks.
(

iii) Draw diagrams wherever necessary.
U@ - I/PART - 1
48. 2 ms6T LUEGFHuded LCMWT LFal 2 6Terg).

(=) @smars s HUuU(Ss o mseT LUGSHuler o M DDeILTEHEFEES SEHS
2, CmFmen aULPMIGS.

(<=3) wGaflwredler sflwmer Crri iPl@dlulener er(pg)s.
There is a widespread outbreak of malaria in your area.
(@) Suggest some controlling measures to the local authorities concerned.

(b)  Write the symptoms for malaria.
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(=1) ECp Car@ssliul_(Heter Qemhaamer ameusg, LsSew HlrliLs.

(erQergibys Cgriim, eouCGur G, Srsami@h 2o, epaer
2 mM&ET, lquLrm Gl L)

DU BILDL| T OSNSF SFHOIW|ETET cpaTn LITHISTLIL| 2 amaer, ¢l (h
Qurssors (1) eremm ojemwssiiudleamer. wearenl Cuir® wHmILD
2 &@ Sguie smwpgerer Geaualllim QriemLé sgar 2 amn
B) erar SepssliuBEng. Qweoadlwgd, Qrss BraThismeTL
Quppgiwrer BH 2onsE 4  eerm CQuUWT. epeameTanwulLb,
samhel S &HMN QBHSSLISE Aamwhglearer o L Ljm 6l eadw
2 md@  (0)  erenmm Guwi.

(=) bl euanswWTer BrLLE Cewsatien CLILITGEMET 6T(LHFIs.

(a)

(b)

Use words from the given list to complete the following paragraph.
(Vertebral column, Piamater, Arachnoid membrane, Meninges, Duramater)

The central nervous system is covered by three protective coverings collectively
called (1) . The outermost cover lying below theskulland _ (2)  isdouble
thick and is called _ (3) . The middle covering is thin and vascularised and is

called (4) . The innermost cover is a very thin delicate membrane and is
closely stretched over the outer surface of Brain and Spinal Cord and is called

®)

Name any 5 types of nerve cells.

L@&g) - II/PART - 11

@@ asdHenas sreur elensuflen enwlientitl UL gL e alleuil&s.

Describe the structure of a dicot seed with a neat diagram.

(=) ugend Geudlufwier eremmmed eremer ?

(@) ugew Caudludweller afleneTaumd® 2 (HEUTSSLILL S Jnlgll THT&TL

(a)
(b)

CummLs6T wrenel ?
What is Green Chemistry ?

Write the future products of Green Chemistry.

6830

[ Sl / Turn over
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L@&3l - III/PART - III
52. o amiameils updlw Csefleurer elarsss5ms oi6flEssEgm 1w Eeﬁm - olE:
QarerTengwiTang amed Carareans, Hleneuidors GCariur@®, sHGUTMmSW
sar(H g liLseT Y Fueinans Csram®h 2 (HeurarsT@h. @eummler epeaLd
peien Siamid Carearansufer Carlurhsamen aleauflés.
Modern atomic theory takes up the wave concept, principle of uncertainty and other

latest discoveries to give a clear cut picture about an atom. State the findings of modern
atomic theory.

53. &gr&sars sPleuurSlalmpgl erssamed Swmfs@n weamanwt edlalfl.

Explain the manufacturing of Ethanol from Molasses.

U@ - IV/PART - IV
54. () Bl lLafler wpse Quss aldl, allensulier LaTeru llers@GH g .
@&snenn BlumULLHSSIS.

(=) 10 4, 15 S Hlevpwjerer Qurmearger wapCGuw 10 Well ~1, 5 el ~1
Caussdler Qadweuamslt UL sTLHSng. ameu Crdsbsameardlermmer.
Cuorgadler Curg mel GsTl(H&0aTearEpd Crrb 2 afarmiq&er.
Curgas@Lliler sima wepGuw 4 Beall~1, 9 56971 CoussHa
Cedlemper. eratled F;, F, @Qounenms &mewrs.

FF K

— <

cHON: ONCHOE

(a) Newton'’s first law of motion gives a qualitative definition of force. Justify.

(b) The figure represents two bodies of masses 10 kg and 15 kg, moving with an
initial velocity of 10 ms ™! and 5 ms™ ! respectively. They collide with each other.
After collision, they move with velocities 4 ms =1 and 9 ms ™! respectively. The
time of collision is 2 s. Now calculate F; and F,,.

FF B

— <«

‘m/s I. 4m/s ‘m/s

55.. urfeneud @Gapurhisemers GOILELH jeunean efleufl. Sjeuhenm ereueumm)
gfl QFwiweomd ?
State and explain the defects of Vision. How can these defects be rectified ?

10m/s

10m/s

-00o0-



